\
Particle Physics HW 4 Quiz Name I<E /

You can try both problems below, but you will only receive credit for the most correct solution.

1. You may use any of the results that you showed in the homework without proof.

a.(5pts) Evaluate Tr(o*V).
b.(5pts) Show that Tr(y>yY) = 0.
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Turn over for second problem!!



2) Consider the Lagrangian density
o — 1 _
L= ihey 9 — me* Py — T F*Y — qipy Ay
a.(5pts) Find the field equation for variation with respect to .

b.(5pts) Find the field equation for variation with respect to A,,. You may use any results from
your homework.
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